

$$\log_n^m = a \quad \log_{mn}^{mn} = b \quad n^a = m \quad \log_{n^{a+1}}^{n^{a+1}} = b \quad (2) \quad (1)$$

$$\frac{a+1}{a+1} = b = \frac{a+1-1}{a+1} = 1 - \frac{1}{a+1} \Rightarrow 1 < b < 2 \rightarrow [b] = 1 \checkmark$$

$$2 \log_9^9 + \log_9^{\sqrt{9}} = 2 \quad n=9 \quad a=? \quad (4) - (3)$$

$$2 \log_9^9 + \log_9^{\sqrt{9}} = 2 \quad 2 \log_9^9 + \log_9^3 = 2 \quad (2)$$

$$\log_9^9 + \log_9^3 = 2$$

$$\log_9^3 = 1 \rightarrow a=3 \checkmark \quad \frac{1}{\log_9^3} + \log_9^3 = 2$$

$$\log^r = 0.13 \quad \log^r = 0.15 \quad \underbrace{(\log \frac{a}{r})}_{0.13} \cdot n^2 + \underbrace{(\log^9)}_{0.18} \cdot n - \underbrace{\log^{10}}_{1.1} = 0 \quad (5)$$

$$\log \frac{a}{r} = \log^a - \log^r \rightarrow 0.17 - 0.15 = 0.02 \quad (2)$$

$$\log^a = \log \frac{10}{r} = \log^{10} - \log^r = 1 - 0.15 = 0.85$$

$$\log^9 = 2 \log^r = 0.3 \quad \log^{10} = \log^a + \log^r$$

$$0.17 + 0.15 = 0.32$$

$$0.13n^2 + 0.18n - 1.1 = 0$$

$$n^2 + 0.18n - 0.13r = 0 \rightarrow (n+1.1) (n-0.13) = 0$$

$$\left(-\frac{1.1}{2}\right) = -\frac{1.1}{0.26} \quad \frac{0.13}{0.13} = 1 \quad (1)$$

$$1 - \left(-\frac{1.1}{2}\right) = \frac{r+1.1}{2} = \frac{13}{2} \checkmark \quad \text{ان کا فرق}$$

$$\log_r^V = 2,1$$

$$\log_a^r = 0,1$$

$$\log_{10}^{10} = ?$$

(2)

(a)

$$\log_{10}^{10} = \log_a^r + \log_{10}^a$$

$$\log_{10}^r = \frac{\log_a^r \rightarrow 0,1}{\log_{10}^a \rightarrow 1,9} = \frac{0,1}{1,9}$$

$$\log_a^{10} = \log_a^r + \log_a^V$$

$$\log_a^V = \frac{\log_r^V \rightarrow 2,1}{\log_{10}^a \rightarrow 1,9} = 1,1$$

$$\log_{10}^a = \frac{\log_r^a \rightarrow \frac{10}{19}}{\log_{10}^r \rightarrow 2,1} = \frac{10}{19}$$

$$\frac{0,1}{1,9} + \frac{10}{19} = \frac{10}{19}$$

$$\log_r^{10} = \log_r^V + \log_r^r$$

$$2,1 + 1$$

$$\log_r^a = 1,1 \quad \log_r^r = 1,1$$

$$\log_{10}^r + \log_{10}^r = \log_{10}^r$$

$$\log_{10}^r = \frac{\log_r^r \rightarrow \frac{10}{19}}{\log_{10}^a \rightarrow \frac{10}{19}} = \frac{10}{19}$$

$$\log_r^{10} = \log_r^a + \log_r^r = 2,2$$

$$1,1 + 1$$

$$\log_{10}^r = ?$$

(2)

$$\log_{10}^r = \frac{\log_a^r \rightarrow \frac{10}{19}}{\log_{10}^a \rightarrow \frac{10}{19}} = \frac{10}{19}$$

$$\log_{10}^a = \log_a^r + \log_a^a$$

$$1,1 + 1$$

$$\frac{10}{19} + \frac{10}{19} = \frac{20}{19}$$

$$\frac{20}{19} + \frac{1}{19} = \frac{21}{19}$$

$$\log_{\frac{1}{\lambda}} \frac{1}{\lambda} = m \quad \log_{\frac{1}{\epsilon}} \frac{1}{\epsilon} = ?$$

$$\log_{\frac{1}{\lambda}} \frac{1}{\lambda} = \log_{\frac{1}{\lambda}} \frac{1}{\lambda} + \log_{\frac{1}{\lambda}} \frac{1}{\lambda} = m$$

$$\log_{\frac{1}{\lambda}} \frac{1}{\lambda} + \log_{\frac{1}{\lambda}} \frac{1}{\lambda}$$

$$\frac{1}{\lambda} \log_{\frac{1}{\lambda}} \frac{1}{\lambda} + \frac{1}{\lambda} \log_{\frac{1}{\lambda}} \frac{1}{\lambda} = \frac{1}{\lambda} + \frac{1}{\lambda} \log_{\frac{1}{\lambda}} \frac{1}{\lambda} = m$$

$$m = \frac{1}{\lambda} \log_{\frac{1}{\lambda}} \frac{1}{\lambda} + \frac{1}{\lambda}$$

$$\log_{\frac{1}{\epsilon}} \frac{1}{\epsilon} = \log_{\frac{1}{\epsilon}} \frac{1}{\epsilon} + \log_{\frac{1}{\epsilon}} \frac{1}{\epsilon}$$

$$\frac{1}{\epsilon} \log_{\frac{1}{\epsilon}} \frac{1}{\epsilon} = m - \frac{1}{\epsilon}$$

$$\log_{\frac{1}{\epsilon}} \frac{1}{\epsilon} = \frac{(m - \frac{1}{\epsilon}) \times \epsilon}{1}$$

$$\frac{1}{\epsilon} \log_{\frac{1}{\epsilon}} \frac{1}{\epsilon} = \frac{1}{\epsilon} \left( \frac{(m - \frac{1}{\epsilon}) \times \epsilon}{1} \right)$$

$$\frac{1}{\epsilon} \log_{\frac{1}{\epsilon}} \frac{1}{\epsilon} = \frac{m - 1}{1}$$

$$\frac{m - 1}{1} + \frac{1}{\epsilon} = \frac{m + \frac{1}{\epsilon}}{\epsilon}$$

$$\log_{\frac{1}{\epsilon}} \frac{1}{\epsilon} = \frac{\epsilon(m + 1)}{\epsilon}$$

$$(or f)^{m-1} = \left( \frac{1}{\lambda} \right)^{m-1}$$

$$\log_{\frac{1}{\lambda}} \frac{1}{\lambda} = ?$$

$$\frac{1}{\lambda} \log_{\frac{1}{\lambda}} \frac{1}{\lambda} = \frac{1}{\lambda} \log_{\frac{1}{\lambda}} \frac{1}{\lambda} \rightarrow m = m + 1$$

$$m + m - 1 = 0$$

$$m + m - 1 = 0$$

$$(m + 1)(m - 1)$$

$$\log_{\frac{1}{\epsilon}} \frac{1}{\epsilon} = \frac{1}{\epsilon} \log_{\frac{1}{\epsilon}} \frac{1}{\epsilon} + \frac{1}{\epsilon}$$

$$\frac{1}{\epsilon} \log_{\frac{1}{\epsilon}} \frac{1}{\epsilon} = \frac{1}{\epsilon} \log_{\frac{1}{\epsilon}} \frac{1}{\epsilon} + \frac{1}{\epsilon}$$

$$-1 \neq 0$$

(A) 9

$$\log \frac{b}{1} = \frac{1}{r} \log \frac{b}{r} = \frac{r}{r} \log 1 + a$$

$$\lg 100 = 2$$

$$\log_r^r + \log_r^r = \log_r^9$$

$$\frac{r}{r} \cdot \log^q r = \log^q n$$

$$\log_b \rightarrow b=59 \checkmark$$

$$\log^r = \frac{-b}{rc} \rightarrow \frac{b}{c} = \frac{1}{\log^r 4} \rightarrow \frac{b}{c} = \log_{19}^{10} \quad (10)$$

$$\frac{b+c}{r} = a \rightarrow b+c = ra \rightarrow b = c - ra \rightarrow \frac{b}{c} = 1 - \frac{ra}{c}$$

$$\frac{-r_a}{c} = \log \frac{a}{1-y} \rightarrow \frac{a}{-c} = \log \frac{r_a y}{\frac{a}{1-y}} \rightarrow \frac{c}{a} \log \frac{y}{r_a y}$$

$$\frac{c}{a} = \frac{1}{n} \times (\log \frac{\omega}{r} - r) \rightarrow (r - \frac{1}{n})^{\frac{1}{n}} \log \frac{\omega}{r} r$$

$$= \frac{\omega - \frac{1}{gr}}{n - \frac{1}{gr}} = \frac{n - \frac{1}{gr}}{\omega - \frac{1}{gr}} \quad \text{if } \frac{A}{G}$$

$$a = \frac{b+c}{r} \rightarrow b = r a - c$$

$$\frac{1}{n_1 + n_2} = \frac{1}{S} = \frac{r a}{b} = \frac{r a}{r a - c} = \lg r = \cancel{r} \lg r \rightarrow \frac{r a}{r a - c} = \lg r$$

$$\xrightarrow{\text{معلوم}} \frac{r_a - c}{r_a} = \lg_r^1 \rightarrow 1 - \lg_r^1 = \frac{c}{r_a} \rightarrow r - \lg_r^1 = \frac{c}{a}$$

$$(r^{-\frac{1}{\lambda}})^{\frac{c}{a}} = (r^{\frac{c}{a}})^{\frac{-1}{\lambda}} = (r^{r \cdot \lg_{r^{100}}})^{\frac{-1}{\lambda}} = (\frac{r}{100})^{\frac{-1}{\lambda}} \cdot 2^{\frac{1}{\lambda}} = \sqrt[\lambda]{2}$$

الف)  $\frac{n}{\lg_{\frac{1}{r}} n} \geq 0 \rightarrow \frac{n}{-\lg_r n} \geq 0 \xrightarrow{n > 0} \lg_r n < 0$  (0, 1) - ٢  
 $n < r^0 \rightarrow \boxed{n < 1}$

ب)  $n^2 - n - 2 > 0 \rightarrow (-\infty, -1) \cup (2, +\infty)$  (١)

$n^2 - 1 \geq 0 \rightarrow \begin{matrix} n \geq 1 \\ n \leq -1 \end{matrix}$  (٢)

$\xrightarrow{n} (-\infty, -1) \cup (2, +\infty)$